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And he threw and it landed on top of it he is liable - 29317 1523 by 2y PN

Overview

1M1 21 cited the ruling regarding a 5pov that we should say nnx 71 regarding the
boats of 7w as well, so one should be able to carry in them more than X"7. Our '01n
reconciles our X3 with a seemingly contradictory X ma.

Mmoo responds to an anticipated difficulty:
— 1IMNN INYY 007 NXINN 12 PITIN PRT RNYH PHYT XPHDT INNID

According to what we assume now that there is no difference between a

partition regarding water and all other partitions (they all have the same ruling) -
- 29 %292 501 2297 1PYY 1329 2059 NYT 313) PNYT NPYD)

And we also assumed that the 3129 do not argue with >'"2%9 regarding nonx 71,

nevertheless the Xn3 -
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Could not have asked, why is the P07 a °"777; since we learnt in 7% p=p

PONNYH -
- 475 AN 1Y VY 19 ON KIN N3N PRINN PPN 01 11 NYPNY NINY RV

A balcony (which is a °"77) which is directly above the water (a n°217)), one

may not draw water from it unless he made for it a %1% of 2°1719V '. The question

could (not) have been asked -
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Why do we need a nxon» of v'", it should be sufficient to carry from the a°n to
the X v11 without a ' 773°m2 just like by the poaw —

Mmoo responds that the X713 could not have asked this question:
— XD NVNY DA TINN MW AN 2393 5D 79 NOY 2PYN 13X HY NPT

For >'"2°1 only considered the top of the ®»po=w as a "7 but not the area

! Later (on the very bottom of this T1m¥) 127 states that a 720 7% n» is only effective over water, but not over land.

2 Shortly the X723 states that the 2°2n disagree with *"271 regarding a ponu that it is not a >"1.

3 It seems from 'oin that according to the X1p0n (see footnotes # 1 & 2 that the 1127 distinguish between a 7770 %M

whether it is over water and or over the land and that the 3137 argue with *"2°7) there is no question even to begin

with, so no answer is even required. See ‘Thinking it over’ # 1.

4 He may make the 7¥°nin either above the X or directly below it (like a skirt). Once there is a 7¥nn of ™ we

say n°nX 71 and it is considered as if the 7¥°mn descends into the water; making the water also into a >"77. Therefore

he can carry up the water through an opening in the bottom of the Xvmma.

5> The P00 has no » M nn and nevertheless we say n°nX 7 to make the Y070 a °"777; the same should be by the

RI01I3; that a small 7% m» should be sufficient for we say nnx 7.

¢ Therefore by the Xunma the water which is below the M will not be considered a >"717, unless the M are v"™.
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underneath the %ponv -
— 75NN )N 2NN N '9nYY

Since X' is not effective for the underneath (if the actual Mmx°nn are less than ") —

nvoIn offers an alternate distinction:
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Or one may also say; this which we require by a X9urra a 's axonn that is in

order to make it permissible even to carry from the o°» to the X1wnma (which is a X91p) -
- 59DV 1125 /3 NYINN Y RY PATY YaN

However to be 211 for throwing from the 13"77 to the o», we do not require a

s mxomn just like by ®poaw, where one is 21 if he threw an object on the %o from the
7"177 even though there are no " mx°mn.

mooINn continues to explain the X113 according to the 1"X of moon:’
— PPN TN N1IYY 7999 91 NIN)

And 1"1 here asks as follows; let us say X'\, meaning -
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That just like >''27 maintains X''Y3 when there is no ' 3% to form a "7 for

one to be liable -
150505 AN FPAN TN 199 19 TN /> DHNN OV YWY N9 39) XN

So too here by the boat where there is a '> ¥’ we should say X' even to
permit carrying (as it is permitted by X vrm).'°

Summary
We can distinguish between the case of X011 (which requires v"") where we need

it to be a " below the 17¥°nn, and the case of ?po7w (which requires only a
minimal 7%°1n), since we want it to be a *"777 only on top. Alternately, by X0m7a it
is a Pv%v% *"77 (even R71P2) but by Hponv it is a "7 only XY,

T iR 1 is effective (even according to *"277) only to make the top of the 7¥nn into a "7 (even with less than
" mx°nn), but not underneath the nx°nn, unless there are " N¥ i as by the XN,
8 The 1"X maintains there is no difference between on top of the 7po v (or X70r13) or underneath it; n"7n everything
is considered a *"711. Therefore if one throws from the 1"77 to underneath the pow (or x7vnm) he will be 2n.
However if he wants to carry from the area underneath that is forbidden 712777 unless there is a ™ 7¥nn.
9 There is seemingly a difficulty here according to the 1"&. How can 1" cite the case of 9p07v so we should say X"
by the boat, when the two cases are different. Regarding the %070 it is a X2 *"77 where one is 21, so how can
we derive that we should also say X7p% ®"1 that one should be able to carry in the jw'n7 ’nR¥"2? The following is
nMvoIN response.
19 See ‘Thinking it over’ # 2.
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Thinking it over

1. moon writes that (even) according to the X" there is no contradiction from the
case of X7vnm (which requires v") to our case of ?po7v; indicating that according
to the X1pon there certainly is no contradiction.!! However it would seem to be the
opposite, since according to the X1p0n we apply n°nX 71 to a 790 7¥°n» only over
water (not over the land) and by po v we say n°nX 73 over the land (and with less
than v")?!12

2. According to the 1"X,!? it would seem preferable for 1M1 21 to bring proof to his
question of PoX 7 from XN (where it is permissible to carry (X919) than from
%2070 (where there is only a X1%) 21’1, since he wants a 210%0 207 by the XnR¥°2
TwnT?!

' See footnote # 3.
12 See X"wnmn and (7121 77 33) a7 PWh.
13 See footnote # 9 & 10.
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